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CLASS-III        SUBJECT- MATHS 

Section A 
Choose the correct answer 

Q1 How many groups of 6 are there in 54?____       

 (a) 7   (b)   8              (c)     9 

Q2 A line segment  has  _______ length. 

 (a) definite   (b) indefinite (c) small 

Q3 Result of multiplication is called ___________.  

 (a) multiplier  (b) product   (c) multiplicand 

Q4   0 ÷  1725 = _________  

  (a) 0   (b)  1   (c) 1725 

Q5 The  part of whole is  called ____       

 (a) numerator  (b)   denominator           (c)     fraction 

Q6 The number to be divided is called  ______ 

(a) dividend             (b) divisor  (c)  quotient 

Q7      
1

4
 and  

3

4
  are called  __________ 

 (a) Like fraction (b) unlike fraction (c) unit fraction 

 Q8 A _____ has a starting point but no end point. 

(a) ray   (b) line   (c) point 

Q9 600 x _______ = 6000 

(a) 100   (b) 10   (c) 1000 

 Q10 A square  has ________ vertices. 

 (a) 2   (b) 3   (c) 4 

Section B 
Q11 Multiply the following: 

              a)  187 x 4                   b) 4266 x 6 

Q12 A shopkeeper sells 62 shirts in a day. How many shirts does he sell in       

23   days? 

Q13    Divide:  

           a) 626 ÷ 5                        b) 4235 ÷ 7 

Q14 The total weight of six players of a team is 558kg. find the weight of each 

player, if each player weights the same. 

Q15   Multiply 103 by the largest 2-digit number. 

Q16 Draw a line segment of 4 cm. 



Q17 Write in fraction:   

 (a) two-ninth = _______ (b) five-sevenths = ________ 

Q18 If  
3

7
 of a whole is coloured, how much is left blank? 

Section C 
Q19  Use symbol  < ,  >  or  =  

 a) 
1

7
 ______ 

5  

7
  

           b) 
4

7
  ______ 

4

9
 

         c) 
11

15
 ______ 

9

15
 

Q20  Aditya has 96 toy cars. He puts them equally in 7 boxes. How many toy cars 

will he put in each box? How many toy cars are left over? 

 Q21 A packet of biscuits costs  115. How many will 62 such packets cost? 

Q22 Arrange in ascending order     

           (a) 
4

7
  ,  

4

9
  ,  

4

8
  ,  

4

5
 

        Arrange in descending order 

           (b) 
5

16
   ,  

4

16
  ,  

7

16
  ,  

3

16
 

Q23 A train coach has 95 seats. How many seats will be there in the train of it has 

34 coaches? 

Q24 A week has 7 days. How many weeks are there in 63 days? 

Q25    Find: 

(a) 
1

5
 of 60                     (b) 

1

7
 of 84               (c) 

1

3
 of 96 

Q26   Write the dividend, divisor and quotient:   56 ÷ 8 = 7  

 

Section D 
Q27    Draw:      

a) Rectangle            b) Cylinder                 c) Triangle       

d) Cone                    e) Square                    f) Circle                       

Q28  Mrs. Sawhney paid for a ring in 7 installments. How much did she pay each 

time if the total cost of the ring is  4235? 

Q29 Write the Fractional number: 

  (a) 
5

13
 = _______       (b)  

4

7
= ____   (c) 

8

11
 = ____ 

Q30  Check whether the following numbers are even or odd by division method: 

            (a) 3433                (b)   4210            (c) 8848 

Q31 Multiply the following: 

            (a) 4388 x 23 = ____  (b) 286 x 42= _____    (c) 56 x 18 = ____ 

Q32 A truck carries 256 bags of rice. If each bag has 32 kg of rice, find the total 

weight of rice in the truck. 

Q33 The product of two number is 426. If one number is 3, find the other?  
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